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Directions (1-5): muﬁwwﬁ%mﬁqﬂﬁmmamaﬁ
Ui -3 qUl | i SeRT- ST AfFadl Bt ATRIS T (FIRI H)

M Person A MPersonB mPersonC

2001 2002 2003 2004 2005

Q1. g auf # sufe B &) wd ARI® 3ma J1d Fifoe?
(a) 26000

(b) 31000

(c) 35000

(d) 22000

(e) 32000
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Q2.What is the difference between -total monthly income of person A and that of
person C over all years?

Tt auf & safda A 3t pa WIS 3ma & A 3R safwt ¢ &) oo a1fie 3ma & g
& ey 3R fraar 82

(a) 8000

(b) 10000

(c) 5000

(d) 4000

(e) 4500
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Q3. 94 2003 H =fed A #1 Wify® 3y, =afed B &t ATRIS 3ma &1 ga-1 A fa
ufarera 3ifire a1 $H 82

@ 14;% less

(b)

(c
(d) 1494 more

14 %% more

14 % less

None of these
(e)
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Q4. T 2002 3R 2004 H FAATH A Bt F& AIRIP 3T HT ¥ 2001 3R 2003 H
TR ¢ 9 oo A1RS M A IuTd J1d Hiford?

(a)13:6

(b)4:9

(c)7:11

(d)11:7

(€)9:11
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Qs. fora au A aufan B siftrean smg sifSfa sar g2
(a) 2005

(b) 2004

(c) 2002

(d) 2003

(e) 2001
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Directions (6-10):mWWWJWﬁ3ﬁTUﬁ$WW: -
AR &9 aut A fafis sufal gRT erR &1 Idre (@rg #)
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W 2002
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= 2003
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= 2004
35 -
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Q6. 99 2002 H 6 HUfAY & N It MR a9 2004 A A Hufaal & 3NAd
ITeH & aF AT 3iaR framn 37

(a) 3.3 A

(b) 5 <A

(c) 5.5 dId

(d) 4.5 ¢Id

(e) 4 I
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Q7. U A GRTTY 2002 | 2003 T ITeH A g5 Ula=rd g fpasit 32
@ 35%

7=%

25%

(c)
20%
11

(d)
—_—0

(e) 13
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8. fFrafefaa # @ f6g Hut A af 2002 | 2004 9% 3ifirwan ufawa 9iS ool B &7
(@A) A
(b) D

(b)



(c)E

i di C
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Q9. ¥ 2002 ® HUHT E 3R a9 2004 H HUT C BT F& I, a9 2003 H HUHI D &
ITeH BT fha- ufawra 8-

(a) 120 %

(b) 220 %

(c) 200 %

(d) 150 %

(e) 250 %
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Q10. 9% 2003 & HUAY B 3R T 2002 H S C & FA SdTGH BT a4 2004 H HUI D
3R F & $d ST o Ut fbe=T 87

(@)11:7

(b)2:5

(c)7:11

(d)11:9

(e)9:11
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Dlrecél-ons (11-15): FrafafEa el &1 eyde 3reaa &9, 3N QU 1 usll &1
BE -3 gul & I -3 el | AHifpd Sl &) S EeRl #)



10

o

M District P
W District Q.

M District R

Number of students
{in thousands)

(=] Ll La = [0

2011 2012 2013 2014 2015 2016
Years

Q11. a9 2013 ® fUae o Ft g1 ¥ forar-R ¥ AHieA a1 a1d S @ 9@ d
e Wi gi g% A2

(a) 115.5%

(b) 112.5%

(c) 15.5%

(d) 12.5%

(e) 16.5%
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Q12. 99 2014 & Gt Y forel & AmHifed o= &1 F@T 3R Tt auf A forer-o &
iR S B HE & S BT 3R fHar g2

(a) 12,000

(b) 11,000

(c) 1,100

(d) 1,400

(e) 16,000
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Q13. Fft aut & Rran-p # Amwiferd S &Y srquTfAa siaa T=rm feat 82
(a) 5,999

(b) 5,666

(C) 5,444

(d) 53,333

(e) 43,333
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Q14. fora adf & WY foreit A fyemar Awifda ol o1 $a d@ gust Jaifys g2
(a) 2011

(b) 2012

(c) 2014

(d) 2013

(e) 2016
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Q15. 99 2016 ¥ forar-p 3R forar - # Amwifra S $t $a W@, a¥ 2014 # forer-p
| ATHIGd BT B $A JBT BT fha- ufard g2
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Solutions

S1. Ans.(b)

Required average

1
=Ex(20+25+35—|—3[}+45)
Sol. =31 thousands

S2. Ans.(c)
Required difference
(15+ 20+ 30+ 35+ 40)
—(10 + 20 + 25 + 40 + 50)
= 5000

thousands

Sol

S3. Ans.(a)



Required percentage

35 —-30
=———x 100
35
= 14%%]955
Sol. “
S4. Ans.(d)
Required ratio
_(20+35) 11
(10+25) 7
Sol.
S5. Ans.(a)
Sol.

From the graph it is clear that person B gets maximum income in 2005

S6. Ans.(a)

Required difference

_[(40+55+45+65+5{]+6{]) (55+50+60+55+6[}+55)}

6 6
315 335

T 6 6

=525 55833

Sol. = 3.333 lakhs

S7. Ans.(c)
Percentage increase

50 — 40
=——x 100

10
=—x 100 = 2504
Sol. 40

S8. Ans.(a)
B, F & D shows no growth
Growth percentage of A

=290 100 = 37.5%

40
Growth percentage of C

60—45 1
e p— —0
2 X 100 333 Yo
Growth percentage of E
60—50
— = 0
- x 100 = 20%

Sol. A shows maximum percentage of growth



S9. Ans.(b)

Required percentage

50 + 60
=——x 100

S10. Ans.(e)

Required ratio
. 45 4+ 45 _ a0
55455 110

=9:11
Sol.

S11. Ans.(d)

Required percentage increase
=28 100=220 1o 5
"8 g 77

Sol.

S12. Ans.(a)

Number of students enrolled in all the
three district in the year 2014
=(B+6+7)

= 21 thousands

Number of students enrolled in District-Q
over all the years together
=(5+4+7+6+4+7)

= 33 thousands

~ Required difference = (33 - 21)

Sol. = 12,000

S13. Ans.(b)
Average number of students enrolled in
District-P over all the years together

1
=-X(3+5+6+8+7+5)

1
=— X34
6

2~ 5,666 thousands

~ 5666 (approximately)
Sol.

S14. Ans.(c)



Sol.

The highest number of students may be in

yvear 2013 or 2014 from the graph.

~ Students enrolled in 2013

=(6+7+9)

=[6+7+9)

= 22 thousands

and students enrolled in 2014 =(8+ 6 + 7)

= 21 thousands

~ second highest enrolled students are in 2014

S15. Ans.(a)

Sol.

Total number of students enrclled in the
year 2016 from district-P and Q

=(5+7)

=12 thousands

Number of students enrolled in District-P
in 2014 = 8 thousands

12
Required percentage = ry * 100
3
=—x 100
2
=150%



